

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$24,796,573.53	\$15,628,001.20
Contributions	\$2,074,062.34	\$10,860,767.62
Withdrawals	(\$128,000.00)	(\$640,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$18,697.90	\$57,729.29
Administrative Expense	(\$339.02)	(\$1,629.80)
Investment Expense	(\$542.30)	(\$4,017.78)
Investment Manager Fees	(\$28.16)	(\$801.64)
IFA Loan Repayment	\$0.00	(\$16,173.52)
Adjustment	\$9,725.20	\$9,725.20
Realized Gain/Loss	\$66.17	\$6,731.29
Unrealized Gain/Loss	(\$358,007.46)	\$511,876.34
Ending Balance	\$26,412,208.20	\$26,412,208.20

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.85%	N/A	N/A	N/A	N/A	2.74%	09/01/2022

DIXON POLICE PENSION FUND

Fund Name: Transition Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$83.04	\$4,692.10
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$81.63)	(\$4,886.41)
Income	\$0.32	\$5.96
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$1.67)	\$151.32
Unrealized Gain/Loss	(\$0.06)	\$37.03
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	9.152	537.376
Unit Purchases from Additions	0.000	121.445
Unit Sales from Withdrawals	(9.152)	(658.821)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$9.073836	\$8.731284
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

DIXON POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	09/13/2022

DIXON POLICE PENSION FUND

Fund Name: IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$24,796,490.49	\$15,623,309.10
Contributions	\$2,074,062.34	\$8,787,763.09
Withdrawals	(\$128,000.00)	(\$640,000.00)
Transfers In/Out	\$81.63	\$2,077,917.61
Income	\$18,697.58	\$57,696.66
Administrative Expense	(\$339.02)	(\$1,629.80)
Investment Expense	(\$542.30)	(\$4,017.78)
Investment Manager Fees	(\$28.16)	(\$801.64)
IFA Loan Repayment	\$0.00	(\$16,173.52)
Adjustment	\$9,725.20	\$9,725.20
Realized Gain/Loss	\$67.84	\$6,579.97
Unrealized Gain/Loss	(\$358,007.40)	\$511,839.31
Ending Balance	\$26,412,208.20	\$26,412,208.20

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	2,487,091.116	1,647,356.357
Unit Purchases from Additions	210,820.970	1,102,606.935
Unit Sales from Withdrawals	(12,893.400)	(64,944.606)
Ending Units	2,685,018.686	2,685,018.686
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

DIXON POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	9.08%	09/23/2022

Statement of Transaction Detail for the Month Ending 05/31/2023

DIXON POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(81.63)	8.919671	(9.1522)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	9,725.20	9.970077	975.4388
05/12/2023	05/15/2023	Redemptions	(128,000.00)	9.927560	(12,893.3998)
05/25/2023	05/26/2023	Transfers In	81.63	9.820810	8.3119
05/30/2023	05/31/2023	Contribution	2,074,062.34	9.884149	209,837.2192